



addition de trois fractions

Nom: _____

Date: _____ Note: _____

$$\frac{5}{7} + \frac{6}{7} + \frac{5}{7} =$$

$$\frac{4}{9} + \frac{7}{2} + \frac{4}{9} =$$

$$\frac{4}{6} + \frac{7}{8} + \frac{6}{7} =$$

$$\frac{1}{4} + \frac{6}{7} + \frac{6}{7} =$$

$$\frac{1}{4} + \frac{1}{8} + \frac{6}{9} =$$

$$\frac{3}{5} + 3\frac{1}{2} + 2 =$$

$$\frac{5}{8} + \frac{7}{8} + \frac{6}{8} =$$

$$\frac{1}{4} + 3\frac{1}{2} + \frac{2}{4} =$$

$$\frac{3}{6} + \frac{1}{2} + \frac{2}{6} =$$

$$\frac{1}{8} + \frac{4}{3} + \frac{2}{3} =$$



Nom: _____

Date: _____ Note: _____

$$\frac{5}{7} + \frac{6}{7} + \frac{5}{7} = \frac{16}{7} = 2\frac{2}{7}$$

$$\frac{4}{9} + \frac{7}{2} + \frac{4}{9} = \frac{79}{18} = 4\frac{7}{18}$$

$$\frac{4}{6} + \frac{7}{8} + \frac{6}{7} = \frac{403}{168} = 2\frac{67}{168}$$

$$\frac{1}{4} + \frac{6}{7} + \frac{6}{7} = \frac{55}{28} = 1\frac{27}{28}$$

$$\frac{1}{4} + \frac{1}{8} + \frac{6}{9} = \frac{25}{24} = 1\frac{1}{24}$$

$$\frac{3}{5} + 3\frac{1}{2} + 2 = \frac{61}{10} = 6\frac{1}{10}$$

$$\frac{5}{8} + \frac{7}{8} + \frac{6}{8} = \frac{9}{4} = 2\frac{1}{4}$$

$$\frac{1}{4} + 3\frac{1}{2} + \frac{2}{4} = \frac{17}{4} = 4\frac{1}{4}$$

$$\frac{3}{6} + \frac{1}{2} + \frac{2}{6} = \frac{4}{3} = 1\frac{1}{3}$$

$$\frac{1}{8} + \frac{4}{3} + \frac{2}{3} = \frac{17}{8} = 2\frac{1}{8}$$